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5 mm Entrance x Efficiency
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5 mm Exit x vs. Entrance x (Success)
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10 mm Exit y vs. X (Success)

I
a1

_!“I“I___I”I”!__I“I“_I”I”!.“I“I“I___I”!”I___I“I“I_“!”I”!“I“I__!”I”I_“I“I“!_

[E
o

Exity (mm)

o

-10

__i--l--I-”I”I”i--I--I“-I”I”Er--l--l--l-”I”i”l---I--I“I“-i--l--i--l--l--]E”I”I-“I“I“E
-15 -10 5 0 5 10 15

Exit x (mm)

-15

10 mm Exit x vs. z (Failure)

[E
o1

_I_!-_I-_I-_I-!-_I-I_-I_-!--I_-I_-I_‘!_-I_!_I-_!‘_I-_I-_I--!-_I-_I-I_-!‘-I_-I_-I_-!_-I_-I_!_.l_l-_l-_l-_.-l_

[ERN
o

Exit X (mm)
|m| T T

_I-i--I--I--I-i--I-I--I--:r-I--I--I-‘i--I-;-I--:r-I--I--I--i--I--I-I--:r-I--I--I--i--l--l-;-:[-l--l--l--i-I

-12-10 8 6 4 2 0 2 4 6

Exit z (mm)

Exity (mm)

10 mm Exity vs. x (Failure)

-10F-

15

_!“I“!__I”I”!__I“I“_I”I”!.“I“I“I___I”!”I___I“I“I_“!”I”!“I“I__!”I”I_“I“I“!_

IIIJIIIIIIIIIlIIIIlIIII

_i"u"i"u"u"i"u"f']'T':[']'T'f']"i"i"u"u"i"i"u"i"u"f'l:"u"f']"u":

-15

-10 5 0 5 10 15

Exit X (mm)

10 mm Exity vs. z (Failure)

UL N AL LN LALLM DAL NLLELN LN

-i--I--I--I-i--I-;-I--:r-I--I--I-‘i--I-;-I--:r-I--I--I--i--I--I-I--:r-I--I--I--i--l--l-;-:[-l--l--l--i-I

-12-10 8 6 4

2 0 2 4 6
Exit z (mm)



10 mm Entrance Theta 10 mm Exit Theta (Success)
TTTT | TTTT | TTTT | TTTT | TTTT | TTTT | TTTT | T 0 600 _—l-l-I-I-!-I-I-I-I-!-I-I-l-l-!-l-l-l-l-!-l-l-l-l-i:-l-l-l-l-i:-l-l-l-l-.!-l—l:

1800; """" o N |
1600: ....... ......... o _: 500
1400F - ......... _'

1200F i i 400
1000 ; .............................................. _; 300
12700 ] ERCESUN] ISPRRISS SOPRY S FUSUSOSS SESSUPS NN ST =

400 R RCILCIIIII

200f

100}

065036405060 Yo 0165650 4650 50 Yo
Entrance Theta (deg) Exit Theta (deq)

10 mm Exit Phi (SUCCESS) 10 mm Exit Theta vs. Entrance Theta (Success)

250}

200

150F

100}

50F

0 10 20 30 40 50 60 70
Exit Phi (deg) Entrance Theta (deg)

O:IIillllilIIIiIIIIillllillllillllill: 0
-150 -100 -50 O 50 100 150




10 mm Entrance x Efficiency

AR AR P R ARARE
oof T

0.8F
0.7F
0.6F
0.5F
0.4F
0.3F
0.2F
0.1

O:illllillllillllIIIIiIIIIiIIIIi:
-15 -10 5 0 5 10 15

Entrance x (mm)

10 mm Entrance Theta Efficiency

0.9
0.8E
0.7F
0.6F
0.5 it T
oaf
03
02
P

O:IIIIiIIIIiIIIIiIIIIiIIIIiI IIiIIIIiIIIIiIIIIiIIII:

0 5 10 15 20 25 30 35 40 45 50
Entrance Theta (deg)

10 mm Entrance y Efficiency

0.7
0.6

0.5
0.4
0.3
0.2

L IURIRIN LN RN LI RN RN

0.1

O_illllillllillllIIIIiIIIIiIIIIi_
-15 -10 5 0 5 10 15

Entrance y (mm)

10 mm Detection y vs. x (Success)

=
a1

_!_-I_-!-_I-_I-_!_-I_-I_-_I-_I-_!._-I_-I_-I_-_I-_!-_I-_-I_-I_-I_--!-_I-_!_-I_-I_-!-_I-_I-_-I_-I_-!_

=
o

Detection y (mm)
a1

|
o1

.........................................................................

|
=
o

o
IIIJIIIIIIIIIlIIIIlIIIIlII

_15__i"u"i"u"u"i"u"f']"u"E[']"u"f']"i"i"u"u"i"i"u"i"u"f'lg"u"f']"u"i
-15 -10 5 0 5 10 15

Detection x (mm)




10 mm EXxit x vs. Entrance x (Success)
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15 mm Exit y vs. x (Success)
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15 mm EXxit x vs. Entrance x (Success)
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20 mm Exity vs. x (Success)
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20 mm Entrance x Efficiency
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30 mm Exit y vs. X (Success)
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35 mm Exit y vs. X (Success)
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65 mm Exity vs. x (Success)
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65 mm Entrance x Efficiency
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